
'Tftiryk'

<t(Elcq.tTR Udr{
"1fru<-r"

es-cs, frr*qT <tfiG-lr qErot, Er{f-sooo r

(qdfrst'ti

rqft a<- <Tq-q /8cb./lo5b-5b
at"roc rcfi-fr Qcl< firr+ (<]fu"rE fiil,

Rsffi, fiTtr

ffi{a oqn'qffi tortRa

frq{c yr-qF< (qlqt'F), R,affi,ulor TFIrcrr ask<r dft-N 'ql{Nlfr$" ft-e 1kffit {Fr qd rEii r

{s-s - {fif {(-5Q. orb.oooo.lo\,.\e5.8\r\r.Qo51

c(qt"F frslc5f{ ?rsl-{'fis R,sffi, {fiER( fr-st"lT qrr{dfg TqTTft sfiqfro r:ffiI, q{l<

flt: vl{E Tlr.ffi €( qrT[qfr-{ 3.].{q q{l{s (Q.b,c'soxebxt)=.\e,o5,1bo/- ({rE (s?{ q5F (s
sIqT{ ctE*r $Fil ilr'r Frcx<ffu .]Effi {q-{ qr('kF R{ 'rRriTr$ fifrrg vd rqft ?Fit{ qtlt?
qnQr

"n6trftc
5 | xsB aDfi\s qfltr{, ffi {emqsrr< 'i'trya tf+ Re "lkc"rn-cqlql 

qmr

Ii cRfr FTcqTc), R,{&F', DITI Tq-r <e,rlrMr< "rfrxtro R-{ qfrc"nc-cltu[ {c<t

e r qqfr+s qd e-F q($i ,itsnl s c<E;I qltffVcc= boo/- (flE ax-tq Etet I .9qls,lg w{tfil "[I\e{t
sfr qfcT sT T6q/q'rq{ {c{ frq qfrc{r{cqIqr {(<l

$e6sfs. ?KE tosb-)b qd <gc-<< sr{ilT{ <ks'Ttrd qt\sq{ sd RqrtI{ <lrqIE( Affi ?t]E

wa6p 6pps ai-ecasso5'qqaqfrs' ?[rs ffilqTs sd qN q <lx ffis {F r

qrc {q>f ,tfi}-ff,r 1qq| qr{rm{ q{re,lr{ r-c{,(Qr

c-srTfr <r<qt'la lvri; u,rr'

,[r<iF ne - qdffl :i5ct/tosu-:tf>.y Zq' AfO 1

frsffi. trrotr

oraqs qf2tqer)

sr Act<fiT{r, f}qffi, q.ol 
r

tr 1tn-{tr{ 1l(qf ir), Rqfrfr, trrol r

e r dc14 ({fiER(), frqGfr, fi-at r

8 r qrql {fiDT{a (qdl qcqfirr{ {'{$tft ffiqs qffit, Reffi, ffst r

,/^..d offiEK ca${r<,qtiffi mq, Rqffi,E$l Ge&fi'< emflltcE eTffi3t qtl) 
r

\b r w{Ft c{f: qK{ Tlrfi, q<q-{a1g {q-rtfr A-tlqfrr r.:fT6I, xfiffit R-sIrl, RsGfi, ffsIt
qr qftqsPll


